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10. Explain the working principle of basic tuned

oscillator.
Afers Ty dAifder & sRi—Rigra a1
IRAT BN |

OR(3721dT)

Explain the working principle of RC phase shift

oscillator.

RC B9 Rrye iider @ »rd Rigid &1

ATET B |

11. Draw block diagram of current-shunt feedback

amplifier and explain.

Bc—3c fhesdd UTHRR &1 Gs—IRY
Raa ik aar=T &Y |
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Time : 3Hrs. Sem - I1I/ECE
Analog Ec. Circuit

Full Marks : 70
Pass Marks : 28
Answer all 20 questions from Group A, each question
carries 1 marks.
Ju-A ¥ afl 20 ¥ B SR T, IAP U BT 9F 1 352 |
Answer all Five questions from Group B, each question
carries 4 marks.

9B & @t ufg ueal & IR <, UAS U & 9H 43 2 |

Answer all Five questions from Group C, each question

carries 6 marks.

7u-C & uft ufg gl & SR <, IS U BT 99 635 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
TP Ued & 9 39T BT SR TP &) S8 (AR HH H)

BT A1y, =92 4 Sifd -8l oI 9ad 2 |

The figure in right hand margin indicate marks.
¥ ursd @ e QUile & qad 2 |
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i % <ty g CE iy @ uRrex &1 () frfafea F @ 3 A1 B RC
) ufeiT & fow Ot 21
hoe=2x10°S &1 R, R, 3R R, &T AT TP G Yaeie U T 2 |

(@) g8 RRas faeuer 4 gfya slar 2 |

HHI: 4kQ, 100Q AHR 8KQ B | AT BN | @) () s (2) <

(@) A (?) 79 4 I3 8l
(i) A, Vee
, (iii)  Direct coupling is used to amplify
RB RC (a) 10 W frequency signals
Vo (b) Direct current
B=00 (c) Both (a) and (b)
Rg L (d) None of these
T (i) STSNFE DUAT BT AT ... G

gaefs1 & foar wrar 2 |
(a1) =1 gy et

9. In anegative feedback amplifier , open-loop gain is

() sT$FE BT
100, feedback ratio is 0.06 and input voltage is (A) (31) @ (@) <=
75 mV. calculate () 379 9 ®Ig e
(1) Feedback factor . . . .
(iv)  Multistage amplifiers are used to achieve
(i1) Feedback voltage higher
(iii) Close-loop gain (a) Voltage gain
_ | 6 (b) Power gain
(iv) Output voltage (c) Frequency response
(d) All of the above
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Answer all Five Questions.

GROUP -C

6x5=30

afl uig 93 & SN < |

7.

Draw circuit diagram of Colpitts oscillator and

explain its working principle.
6

dliadiee 3ATRTAeY & yRuer sva & R4
IR U NI @ =T W |

OR(37214T)

Draw ac equivalent circuit diagram for 1st and 2nd
stage of transformer coupled two-stage amplifier

and find expression for its overall voltage gain.

SIHHY ®Ues I—9dx Yaede & Yo gd
fgda ¥R & oy vodlo wgey uRuer
IRE Rad 3R g9 JYvl diecs 99 &
fore srfraafed sa &% |

NT3048

(vii)

(vii)

(viii)

5 1638303

...................... BT YANT &AW dF Bl
Jdsfasy 9¢ wirar 21

(31) arecw—3ic fhsd®

(@) wc—vic fhed®

(A) Fe— 8w fhsd®

(%) Swiaa g+

RC phase shift oscillator consists of ..........
RC section

(a) Three

(b) Four

(c) Five

(d) Two

RC »W Rve affeter 9 ... RC
@vs Bid B |

@) o=

(@) ar

(d) dur=

@) «

Which of the following oscillator is used in
Laboratory.

(a) Hartley's oscillator

(b) Colpitt's oscillator

(c) Wien bridge oscillator

(d) None of these
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OR (3121an)

Explain ideal transconductance amplifier with the

help of its circuit diagram.

gRuel IRT &) IeFdr A AT ciabsded
yadfe ) A a |

What is voltage-shunt feedback ?

dleewl —3ic fhsdd w1 2 ?

OR (3121a1)

What do you mean by class-A power amplifire.

FIT-A ?Ifdd gaefe & M9 Ha1 99 & ?

Write advantages and disadvantages of direct

coupling .

SRdc HUfT & 19 IR B B ford |

NT3048

7 1638303

() 108

202 for the circuit shown in figure, h,,=

(a) 1Q
(b) 22
(c) 4Q
(d) 2/3Q2

(X)m%{ oz o fewy 1w uRuer &

(xi)

(xi)

ferg hy,=
(a) 10
@) 20
(w|) 40
(?) 2/30

Which of the following h-parameter of ideal
CB transistor is zero

(a) hyp,

(b) hg,

(¢) hop

(d) none of these

fa=faRaa & 9 ameef CB gifSiex @1
h-gRPfier Tr=1 ghar 21

(31) hip,

(¥) hy,

(4) hop

(?) =919 | BIg T8
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(xix)

(xx)

(xx)

12 NT3048
CC gifSieer @ fearg hy &1 faflkse |
................ BT 2 |

(31) 1

(®) 100

(®|) o0.01

(]) 0.025

Negative feedback in an amplifier .........
(a) Rises its lower 3-dB frequency

(b) Lowers its lower 3-dB frequency
(c) Lowers its upper 3-dB frequency

(d) None of these

yad® 4 feifew fheds QAT 2 |
(31) fFraet 3-dB mgfa &1 9T

@) frad 3-dB 3mgfR1 &l =er

(\) S8 3-dB Igfa &1 wer

() 39 9 BIg 78

NT3048

(xiv)

(xv)

(xv)

9 1638303

Efficiency of class-B amplifier is ......
(a) 78.5%

(b) 100%

(c) 25%

(d) 50%

(31) 78.5%
(€) 100%
(®|) 25%
(]) 50%

Which of the following is non-linear distortion.
(a) Amplitude distortion

(b) Harmonic distortion

(c) Phase distortion

(d) Both (a) and (b)

ffaRaa # 9 @19 sRfas fawuer 2
(31) I fawyor

(@) smifa® fasuor

(&) ®ar favuor

(?) (31) 3R (@) <=l
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OR(3121aT) OR (3127aT)
Explain the following terms - Explain the following terms -
(1) Boot strapping (1) Boot strapping
(i1) Large signal amplifier (i1) Large signal amplifier
fr=ifaRad usl &1 sar=r & | fr=ifafad asl &) e & |
e e
fggg Rrvaa yads fggg fva yads

L k%
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